
4700 Calle Bolero, Camarillo, CA 93012 • wilwood.com • Sales: (805) 388-1188 • E-mail Tech Assistance: info@wilwood.com
FL542 • REV DATE: 08/05/2022

ADJUSTABLE RATIO

RACE PEDAL ASSEMBLIES
TRU-BAR

P/N: 340-16380
Hanging Tru-Bar Brake

P/N: 340-16388
Reverse Tru-Bar Brake

P/N: 340-16383
Hanging Combo Brake/Clutch

Adjustable Foot Pads 
Foot pad adjusts horizontally in 
3 positions up to  1” for driver 
preference; dual pedals can be 
3” to 5” apart on-center

Forged Aluminum
Strong, lightweight 
forged aluminum  
pedal arms

Tru-Bar Brake Bias
Friction-free, trunnion-based 
Tru-Bar allows precise 
adjustment of front-to-rear 
bias to maintain  
optimal performance

Adjustable  
Pedal Ratio  
Three positions to 
adjust pedal ratio for 
fine-tuning pedal feel 
and performance
(see chart pg. 2)

ADJUSTABLE RATIO
    TRU-BAR PEDAL ASSEMBLIES

P/N: 340-16377
Floor Tru-Bar Brake

P/N: 340-16607
Floor Clutch & Tru-Bar Brake

P/N: 340-16605
Triple with Throttle Linkage

P/N: 340-16604
Clutch, Tru-Bar Brake, Throttle

P/N: 340-16386 
Reverse Clutch & Tru-Bar Brake 

Note: Adjustable ratio and offset pedal arm 
kits are available to upgrade most existing 
models of Wilwood pedal assemblies

https://www.wilwood.com/Index
https://www.wilwood.com/Pedals/PedalProd?itemno=340-16380
https://www.wilwood.com/Pedals/PedalProd?itemno=340-16388
https://www.wilwood.com/Pedals/PedalProd?itemno=340-16383
https://www.wilwood.com/Pedals/PedalProd?itemno=340-16377
https://www.wilwood.com/Pedals/PedalProd?itemno=340-16607
https://www.wilwood.com/Pedals/PedalProd?itemno=340-16605
https://www.wilwood.com/Pedals/PedalProd?itemno=340-16604
https://www.wilwood.com/Pedals/PedalProd?itemno=340-16386


4700 Calle Bolero, Camarillo, CA 93012 • wilwood.com • Sales: (805) 388-1188 • E-mail Tech Assistance: info@wilwood.com
FL542 • REV DATE: 08/05/2022

ADJUSTABLE RATIO

RACE PEDAL ASSEMBLIES
TRU-BAR

PART NUMBER MOUNT DESCRIPTION  RATIO 1           RATIO 2          RATIO 3

340-16380 Swing Mount Adjustable Tru-Bar Single Brake Pedal 6.25 : 1 6.62 : 1 7.00 : 1

340-16383 Swing Mount Adjustable Tru-Bar Brake with Clutch 5.50 : 1 5.87 : 1 6.25 : 1

340-16386 Reverse Swing Adjustable Tru-Bar Brake with Clutch 5.50 : 1 5.87 : 1 6.25 : 1

340-16388 Reverse Swing Adjustable Tru-Bar Single Brake Pedal 5.50 : 1 5.87 : 1 6.25 : 1

340-16377 Floor Mount Adjustable Tru-Bar Single Brake Pedal 5.25 : 1 5.62 : 1 6.00 : 1

340-16604 Floor Mount Adjustable Tru-Bar Brake, Clutch, Throttle 4.75 : 1 5.25 : 1 5.75 : 1

340-16605 Floor Mount Adjustable Tru-Bar Brake, Clutch, Throttle with Linkage 4.75 : 1 5.25 : 1 5.75 : 1

340-16607 Floor Mount Adjustable Tru-Bar Brake with Clutch 4.75 : 1 5.25 : 1 5.75 : 1

PEDAL ASSEMBLIES ORDERING INFO: PH: 805.388.1188 • FAX: 805.388.4938 • wilwood.com • info@wilwood.com

PEDAL PAD HEAD AND FOOT PAD ASSEMBLY

1
2
3
4
5
6

2
4
8
4
2
8

330-16077
230-16369
240-11240
230-16370
330-11280
230-11300

Pedal Pad Head, Adjustable
Bolt, 1/4-28 x 1.25” Long, Button Head
Washer, .265" I.D. x .500" O.D. x .063" Thick
Nut, 1/4-28, Nylock
Foot Pad, Adjustable
Screw, 10-24 x .50” Long, T-20 Torx Drive

ITEM NO. PART NO. DESCRIPTION QTY NOTES

Pedal Pad Head Kit, P/N 330-16368 

Foot Pad Kit, P/N 330-14505 
 

•NOTE: The position of the pedal head on the 

P/N 330-14505
Foot Pad Kit

ADD LOCTITE® 242
(SEE INSTRUCTIONS)

6

5

1

2
3

3

4

P/N 330-16368
Pedal Pad Head Kit

}
}

1

2
3

3

4

WILWOOD LEVER
FLOOR MOUNT

WILWOOD LEVER
SWING MOUNT

ITEM PART NO. DESCRIPTION QTY KITS
1 330-16077 Pedal Pad Head, Adjustable 2

Pedal Pad Head, P/N 330-163682 230-16369 Bolt, 1/4-28 x 1.25” Long, Button Head 4
3 240-11240 Washer, .265” I.D. x .500” O.D. x .063” Thick 8
4 230-16370 Nut, 1/4-28, Nylock 4
5 330-11280 Foot Pad, Adjustable 2

Foot Pad Kit, P/N 330-14505
6 230-11300 Screw, 10-24 x .50” Long, T-20 Torx Drive 8

}
}

NOTE: Please refer to our website for more technical data on available pedal assemblies.

https://www.wilwood.com/Index
https://www.wilwood.com/Pedals/PedalProd?itemno=340-16380
https://www.wilwood.com/Pedals/PedalProd?itemno=340-16383
https://www.wilwood.com/Pedals/PedalProd?itemno=340-16386
https://www.wilwood.com/Pedals/PedalProd?itemno=340-16388
https://www.wilwood.com/Pedals/PedalProd?itemno=340-16377
https://www.wilwood.com/Pedals/PedalProd?itemno=340-16604
https://www.wilwood.com/Pedals/PedalProd?itemno=340-16605
https://www.wilwood.com/Pedals/PedalProd?itemno=340-16607
https://www.wilwood.com/Pedals/Index
mailto:info@wilwood.com
https://www.wilwood.com/Search/PartNoSearch?q=330-16368
https://www.wilwood.com/Hardware/HardwareProd?itemno=330-14505

